Summation of Series

- P3 book P15 Ex2A Q1,3,4,7,9,10

In each case, use the identity given to find the sum to n terms of the

given series.

Identity
] 1
1 = —
rir+1) r

2 21‘+l.E(r—|-1)2—r2

2 1

4 rz(r+ I)—(r— I)z(r) =32 —r

¥ r—1

4r2~152r—1_2r+1

5 — =
r+1 r rir+1)

6 4r(r+ 1)(r+2)=r(r+1(r+2)(r+3)
—(r=1)(r)(r+ 1)(r+2)

2

2r+1 1

r2(r+ 1) r?

9 Use the identity (r + 1)° —

Zn: r(r+1).
r=1

10 Show that rl'

e+ D +2) o+ D) rrD12)

S (r+ 1)

——

. Hence find
(r+ .1)! rZ.—.l:

Series

- 1
gr(r+ 1)

Z(2r+ 1)

r=1

L 1
;4}'2—1
Zﬂ:r(Sr —~ 1)

r=|\

. 1
27D

r=1

n

> r(r+1)(r+2)

r=1

2 1
Z r(r+ )(r + 2)

r=|

z": 2r + 1
(r+ 1)

r=1

P =3r2+3r+1 to find



- P3 book P18 Ex2B Q1-3, 5-7, 9-11, 13, 14, 17, 19
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17 Find the sum of all even numbers between 2 and 200 inclusive,
excluding those which are multiples of 3.
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ANSWERS
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